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9. Molly had some savings. She was given an extra £150 for her
birthday but spent £284 on a new phone. She now has £342
Ieftin her savings.

How much did she have in her savings before her birthday?

Do °
[
e
(=

e g e

10. 4657 x4 = .
2 [Jwe
0[] 1620208
a Jwa
@ [nee





image8.png
1. Mentally divide 420 by 7.
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Total 15746 and 3 859.
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What s the difference between 58 632 and 70 4317
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3. Which number is the lowest common multiple of 6 and 87
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Decrease 356 027 by 300 000.
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What s the highest common factor of 8 and 167
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Nas correctly estimated an answer of 470 000 when rounding

the numbers to the nearest 10 00D.

What was his question?
[] 213490+ 253400
[ o8 514- 104599
[] 105084 + 55600
[ 7581331001





image6.png
e oz e

e o g e

Which number is prime?
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